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OMEMY I BHEZ R0l 22X ALY 126,266
—-J23 69,760& * 10¥ = 150 104,640
—F5Y 69,7603 * 10 = 25¢! 17,440
— RIS 69,760& * 10 = 6 4,186
201 LEt2AY| 23,200 23,400 A 200
01 AFR2t2l bl 21,400 23,400 A 2,000
OMYIISEEIZE E22 ME
50& * 30,0000 * 23l 3,000
OMYIISEEIZE 08 ME
100,000& * 100JH 2~ 10,000
OMYIIEEEIZE S92 M
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OMYIIZHE)| s SAQS
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301 LBEXI 400 1,000 AB00
12 JIEt2 & 2 400 1,000 AB00
OMYIIZEEEI D 243
40,0002 * 109 400
405 XtHAkF S 20,000 60,000 A40,000
01 AL S EF SHI 20,000 60,000 240,000
OMYIIESYEI| =2 0S4 Iz 7
4,000,0002 = 5CH 20,000
HAEH 22 203,844 241,362 237,518
201 L2 145,134 173,854 £28,720
01 AFR 22l 900 1,600 A700
OBYRAN 22X ¢+&3E 7Y
100,000 * 9% 900
02 2229l 144,234 172,254 £28,020
O&EAX & KX 144,234
—9543690(CHEEIE, XBX, BR)
1,340 * 6002 =+ 12& 9,648
—96FQ006(CHESIZ, EELH2IX, BR)
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— A2 07224(QEH0l, Jtsd)
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— 9543697 (HES45E, SASMYIIENH)
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— 86218601 (LHE S 452, SASMYIISNH)
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—96404240(LHE SE+32, SASMAYIEN)
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—B4E2226( = HE A
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— AOIEE A (HE) 150,000& * 60JH 9,000
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400,000 = 44 1,600
—SUOIRAHIR(HIAE)
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— RYESHSA(HIAH) 200,000& * 44 800
OstZ0Ista AR 12,010
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— HESMAY Il OO 300& = 5,0000H 1,500
-3 0t 300& * 20,0000H 6,000
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—JIEH( M YD &) 2,0008 * 43H » 128 1,032
OHMZ H=a=HMelAld HUEH 2 S
300,000& * 33 900
405 XHo&HF S I 16,000 30,000 A 14,000
01 AL =S EF SHI 16,000 30,000 A 14,000
OJIs&EAB Xy 2 16,000
— WNoIEE &X 4,000,000& * 2CH 8,000
— X ZTE &X 4,000,000& * 204 8,000
MYIIREME(ME Y SAS) 9,952,154 9,982,285 A 30,131
101 2124 d| 63,133 39,859 23,274
04 JI2ZtH22XNEE S 63,133 39,859 23,274
OSAEZHIIELTEEI] NH 63,133
—-J|I23 69,760 * 53 x 1502 52,320
—F5Y 69,760& * 58 » 25 8,720
—HRIFIIHY 69,7603 * 5H » 6 2,093
201 et A b 33,060 27,360 5,700
01 AFR22t2l Yl 4,260 5,760 A 1,500
OsSAlzggmHlIE 2elx=H EE2 M
50& * 30,000MICH * 25 3,000
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OSAZFHIIZS LMAHAHE TIRAE =
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5,000& * 40004 ~ 12€ 2,400
OFAXIE ZH AIAE AIZ2=
20,000 * 25004 + 12& 6,000
OUEHIIZ HEsAIAAE 89 S22
500,000& = 12& 6,000
Ol MEHII=ES He&d M)e2
1,000,000 * 12& 12,000
ol My wal N 22 |22
300,000& = 2CH * 43| 2,400
206 M = Hl 27,600 31,600 A4 ,000
01 X2 H| 27,600 31,600 A 4,000
EEH Y A 55,000& * 120 6,600
OSAMZERHIIE Z2Ux=EE) 7
42 000 * 50004 21,000
207 30 | 45,000 35,000 10,000
01 A2 E<H| 45,000 35,000 10,000
OMEHIIS +ZS0 AN U Z2H =
E HHOHCHE RAIIEAN 4 15,000
15,000,000& = 14
OMBHIIS +Z S8 DAY BI B
10,000,000& = 1A 10,000
OMEHII=E Mele=sE EBIgd B 29
10,000,000& = 1A 10,000
OSASFHII=S 2EtH2H |ILEAN 24
10,000,000& = 1A 10,000
307 2I2t0| & 9,309,448 9,573,466 A264,018
05 QIZtREZ 9,309,448 9,573,466 A264,018
OsaASMY D 28 2 Hel=x=2 1,595,000
— 28t 20,000& * 7,000& 140,000
— Xl 135,000 = 7,000 945,000
—42=2/ot3 Heldl  170,000€ = 3,000 510,000
O¥25c2lt3a JIdd MEHIIZ Heldl
110,000 * 23,000& 2,530,000
OMetMy D] =E 28 S
7,3008 * 49,480NICH = 12& 4,334,448
ONSw2lT Jtois MEBHIIS 9o e
850,000,000& = 14l 850,000
308 XAXISHSO0|I& 63,913 0 63,913
07 AKX SHHZ2ES S 63,913 0 63,913
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Oesellta =3 ANz 2E3
63,913,000& * 14 63,913
AEHI &S 370,000 275,000 95,000
01 A& HI 370,000 275,000 95,000
OZeotRA(MEHIIE HEBESHAIE) X
15,000,000& * 1500 & 225,000
OSAERHIIS SEINJI(RFID) EXALL
2,000,000& = 50CH 100,000
OJty ME@IE REd 22 BA
45,000,000& * 14 45,000
405 XHoHF S HI 40,000 0 40,000
01 AL ESFH S 40,000 0 40,000
Ol d ME@II=2 ¢edE FELA M
20,000,000& = 24 40,000
MeDISEHSE 22 365,880 393,434 A 27,554
201 Let24d] 82,680 77,484 5,196
01 At 22/l 3,000 6,000 A 3,000
OMg 2 SAZSE ZZH 222 M
400& * 7,50004 3,000
02 =24l 79,680 71,484 8,196
OSAMERHIIE SHIIII(RFID) S4B
4,000& = 30704 = 123 14,736
OSAMERHIIE SIIII(RFID) I3
5,000& * 100002 * 128 6,000
OSASRHIIES SIIJI(RFID) S A2l
16,000& = 307CH * 123 58,944
206 = Hl 222,000 262,350 240,350
01 MHZ 4l 222,000 262,350 A 40,350
OXelIsEM dESE HA 222,000
—MEMYI 2E M
120& = 1,500, 0000H 180,000
~SASRHIIS 25 MF
50& * 500,0000H 25,000
—338 8% A 120& = 100,0000H 12,000
—SAESFHII=S &8 & M&
50& = 100,0000H 5,000
307 21201 A 61,000 53,100 7,900
05 RIZt2IE = 61,000 53,100 7,900
OMgIISE/E B2 61,000
— MMy D] 1,207,000,000& * 5% 60,350
—SAESFHII=S 13,000,000& * 5% 650
802 Btet = DI Et 200 500 A 300
03 JIEtEtEI 3 S 200 500 A 300
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OZZH dBEE 242 88
10,0002 * 203 200
(E)Hgss+d243 1 22,250 25,000 A2,750
< 6,675
Al 15,575
301 LEd = 22,250 25,000 22,750
< 6,675
Al 15,575
12 JIEHE &= 22,250 25,000 22,750
ongss =242 N
22,250,000& = 14 22,250
< 6,675
Al 15,575
Hassd2483s 138,500 198,500 A 60,000
301 LB AF 138,500 198,500 A 60,000
12 JIEtE &= 138,500 198,500 A 60,000
OHXH =AHEB&3 138,500
— HHE 120& = 1,000,000kg 120,000
—s%rY(RaY) 150& = 10,000kg 1,500
—sadgg(EctAd) 800& =* 10,000kg 8,000
—sA%=X 1,000& = 7,200kg 7,200
— HX 30& = 30,000kg 900
—H®cE 30& = 20,000kg 600
—HEctAE 30& = 10,000kg 300
(B)sEHHIE =HEAS 110,000 110,000 0
= 22,500
< 55,430
Al 32,070
301 LEEAS 110,000 110,000 0
= 22,500
< 55,430
Al 32,070
12 JIEE4d = 110,000 110,000 0
OsZHHE =A243 110,000,000& * 14 110,000
= 22,500
< 55,430
Al 32,070
(m)3s85tE &5 50,000 50,000 0
= 15,000
< 10,500
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Al 24,500
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OdsHbld=ssgHotEasNE
5,000,000& * 1004 2 50,000
= 15,000
< 10,500
Al 24,500
MSEHIIZ X2l 144,280 21,030 123,250
201 Yet2 | 4,280 11,030 16,750
01 At 22l 4,280 11,030 A6,750
Ogxl - 2d8€HIIE 2& =2 HMA
60,0003 * 19914 + 23] 2,280
Ogxl - 2d8HIIE 22 822 MA
,000& * 1,000% = 13 2,000
307 gl2tol & 140,000 0 140,000
05 BIZHRI & 3 140,000 0 140,000
OBtALZ & /& Xel 280,000& * 500& 140,000
(E)HEES LS AE LAY 75,000 75,000 0
< 22,500
Al 52,500
401 A& HIZ 2018 75,000 75,000 0
< 22,500
Al 52,500
01 A& HI 75,000 75,000 0
ONMEESE Z2WEsA4 4X
15,000,000& = 500 & 75,000
< 22,500
Al 52,500
SZ0Istd 2el 24,072 65,244 AN41,172
e30lst& 2el 24,072 65,244 AN41,172
201 et | 21,872 24,244 A2,372
01 At 22/l 1,000 4,412 A3,412
OgZ0Iad MR FAEZF & 4248 23
-+ 250,000& = 43| 1,000
02 =224l 20,872 19,832 1,040
OtZ0Istd AIRA S 23
12,0008 » 1228 144
OgZ0lad MR FD| et
40,000& = 123 480
OgZ0laa ggal 1,400
— =2 110,000& * 2&H 220
— 89 60,0002 * 14 60
— 20 60,000& = 2H 120
—RAE 500,000& * 2% 1,000
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OgZ0latad MR 2 XX AlE2e
500,000& * 202 1,000
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< 1,776,500
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101 @124l 29,405 29,138 267
04012t Z22HEE = 29,405 29,138 267
O3s=aa si2el 29,405
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—5g= 104,640& » 1&¥€ » 113 11,825
201 £B-2%H| 54,560 60,720 26,160
01 At 22/l 16,900 20,620 A3,720
OFstx dA ot SAH ME
100& = 5,0000H 500
OZsadd s BHAEE 7¢
50,000& = 50012 = 33 7,500
OZZsza 2998 =9
70,0003 = 10 = 23| 1,400
Ooutste 234 2el 7,500
— 333ty 2 2E2AE
1,000& = 1,0008 » 13 1,000
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401 Al HIZ 201 I 180,000 120,000 60,000
< 54,000
Al 126,000
01 A& HI 180,000 120,000 60,000
OZSHTAUME ALY 90,000,000 * 24 180,000
< 54,000
Al 126,000
(C)MEICIE S /AN (SHE) (HEAY) 2,500,000 1,200,000 1,300,000
< 1,625,000
Al 875,000
401 AIEHI L 2] 2,500,000 1,200,000 1,300,000
< 1,625,000
Al 875,000
01 A& HI 2,491,000 1,195,680 1,295,320
Q4iEfiotd SJAAML(SAH)
2,500,000,000% * 1Al = 99.64/100 2,491,000
< 1,619,150
Al 871,850
03 Al S HHI 9,000 4,320 4,680
Q4Efiotd SJAAMG(SH)
2,500,000,000& = 14l = 0.36/100 9,000
< 5,850
Al 3,150
SSHEY EXAY 90,000 100,000 A 10,000
401 AIEHI L 2CHYI 90,000 100,000 A 10,000
01 A& HI 89,190 99,100 29,910
Os==aa EXAE
90,000,000& * 14l * 99.10/100 89,190
03 Al S THHI 810 900 290
O3==aa EXAE
90,000,000& = 14l * 0.90/100 810
SESEA 64 ot (2ed) X 10,000 10,000 0
401 Al HIZ 201 8] 10,000 10,000 0
01 A& HI 10,000 10,000 0
O3Ss&a o4 g (2gd) &
,500,000& * 404 & 10,000
(L ELZE AN 2 ALY 719,000 3,074,500 A 2,355,500
= 550,000
< 49,500
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403 MtXISHH S =0l & 719,000 0 719,000
= 550,000
= 49,500

_23_




AN EIESH
o - H4 2 (HY/YGAE - 4H)
el amael (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 119,500
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= 48,000
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402 RI2tXt20l ™ 96,000 0 96,000
< 48,000
Al 48,000
02 2IZt 2 AL EZ (01X TH ) 96,000 0 96,000
ONE2=33HelANE IHEXA
96,000,000 = 14l 96,000
< 48,000
Al 48,000
S| QLA AT AIFIE HEA 22 70,791 0 70,791
101 124l 5,791 0 5,791
04 JI2ZtHZ22EE = 5,791 0 5,791
OZJ A AR AAFIE EA KA 22 5,791
—Ha= 69,7603 * 2% * 25¢ 3,488
—5g= 104,6403 * 28 » 11 2,303
201 Let249] 15,000 0 15,000
01 At 22l 15,000 0 15,000
O3J] AYAALT JAFINE Y HOAES
1,500,000& * 100H £ 15,000
401 AIEHI L 20 50,000 0 50,000
01 Al 50,000 0 50,000
OF)| QAMAAT UYAEINE 0/SAZA &
Xl 5,000,000& = 1004 2 50,000
HE2IZH(BFFEZS ) (IIEH/DIIE 2,697,104 2,523,688 173,416
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ol A 2,539,590 2,361,482 178,108
101 @124 dl 2,539,590 2,361,482 178,108
03 RIAHAZZ2TE = 2,539,590 2,361,482 178,108
Od0Istg 2L (1788 JI&E) 2,499,582
—Jlas 3,260,230& » 43 128 1,682,279
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141,490 » 43%H » 15¥ 91,262
— e 100,000& = 5% = 12& 6,000
— 2+AlH| 3,000% * 259 * 43H « 123 38,700
O#tZdilstad m=l 34,400
-5 200,000 = 43H « 13 8,600
—ot= 100,000 = 43F 1= 4,300
£ 9 30,000& = 43H = 1= 1,290
— &g 100,000& = 43F 1= 4,300
- & 50,0003 = 43%H = 1= 2,150
— OFME =) 20,0003 = 43H 1= 860
—4SZ 100,000& = 43% * 1= 4,300
— g xR 100,000& = 43F = 1= 4,300
—JIEH(OtAa ¥ B5otd &)
100,000& = 43F * 1= 4,300
OZ0Iatd AN EAHY| (M E ) 1,440
— Y HYISH(MHAE S)
30,000& = 48YH = 13 1,440
OtZ0Istd SHES#AHI(SHHE )
66,000& * 48H = 13 3,168
OstZ0lstd FHEILX HAXHSH(SHHME L)
500,000& = 2% = 13 1,000
JlEZ3l 157,514 162,206 N4,692
Il 22l 157,514 162,206 14,692
201 LB-2dH| 34,154 33,806 348
01 At 2t 2l 34,154 33,806 348
O=AERX 7 16,000 » 299t A « 12& 5,568
OEZ A 7,0003 * 64 « 2998 « 123 14,616
Oggtx2 100,000& * 12& 1,200
OaLm2 S-S 50,000& = 123 600
OALAa2 =&t 10,430
— SAII(HHE) =el 1,000,000& = 1.504 1,500
— ZEH =2l 100,000& * 5CH * 50/100 250
— =AM EH 200,000& = 53| = 1.50H 1,500
—ZeglH EU(EH) 200,000& * 53] * 504 5,000
— ZBH EU(Z2) 200,000& = 53 = 104 1,000
—PC =2l 100,000& = 29CH *= 20/100 580
— JIE =2lHl 50,000& = 12& 600
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¢l =gl CEE-ED
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OJIEt AR 22|l 5,000& * 29% = 12& 1,740
202 oddl 114,840 120,060 25,220
01 = LH 4 1l 114,840 120,060 A5,220
Otd=2s 2= Kl 114,840
— 2o Yl 20,000 = 29 * 12 = 128 83,520
— 22yl 90,0003 = 299 = 1 » 12& 31,320
203 YR =2t 7,320 7,140 180
04 FANSEHE=LH| 7,320 7,140 180
OFRN2IYSZ=AHI 610,000& = 12& 7,320
204 AR A H| 1,200 1,200 0
01 ¥R A 1,200 1,200 0
OXMZ AR LHAY| (B ZESUEA)
100,000& = 1H = 12& 1,200
HRas (223 (sd /462 - =4 1,509,762 1,666,010 A 156,248
LHEAHH K= 1,509,762 1,666,010 N 156,248
HEHAH X = 1,509,762 1,666,010 AN 156,248
701 JIEtSI HEXHES 961,600 1,160,200 A 198,600
1JIEtl HEE2 961,600 1,160,200 A 198,600
Ox=ZNEEL3N H&ES 961,600
—236t+HMelAl" 2gae 29
54,000,000& * 64 Xl = 324,000
— 2252 HeAlE BOX 22124
3,600,000& * 400 2 144,000
— 330t AIE 24 X AtY|
7,000& = 500m * 1004 2 35,000
— B35t Al Mel& el
9,000,000& * 38 2 342,000
—33ot+=HMlAE 24X Al
65,0003 * 90K = 128 70,200
— 33ot=HMelAE (FI1H)J=a |
36,400,000 * 14 36,400
— 236t A" dE2
10,000,000& * 14 10,000
702 JISEEZS 548,162 505,810 42,352
0MNIIS3EES 548,162 505,810 42,352
QHIISXMeANE=HFUXNAIS HES 548,162
—AXNHHNES= 400,000,000& = 14 400,000
— dEE(2019) MIISFTOEH2 10/100
1,315,084,000& * 10/100 131,509
— 8EZ(2019) HIIEHMel=2+22 10/100
166,524,000& * 10/100 16,653
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